1. ot

Ulo

Z A4 A7} ok

o vy 8].1/]_%?

i

@ -2+ (+4) b s
® 3+(-5)

& 745
© (=3)+(+1)



2. g AN BN G, O ST G AL EA T
watolet,

(=2)+(+5)+(-9)
=(=2)+(=9)+(+5) ]g
:{(—2)+(—9)}+(+5)]
=(—11)+(+5)




® (-5.6) — (-4.7) = -1.1



)4 (22) = A

21 11 19 19
@-5 O3 @3 Ox



5.

—846-12+ 17 - 25 & AAts}HA?

O 22 @ -22 ® -11

@ 11



©9

o, a+b 9 F

ko1
=

a, b 7t e T

= A
T

6.

H7




7.  od gEFofA -0.6 & woF & ZS AEste] ggy 11 Aot
0.3 °] E At vr2A] ALk 22

D 0.6 @ 0.9 3 1.2 @ 1.5 ® 1.8



-3 oA 5 M2 9] A5

SER-EXER
HE 1 g o
=

> 2R

> 2R

g

©o
=]

ES
@

94

~




9. Uae Axtstoizt
(+4) x <+g) X (—10) x (+6) x (—i)

5 J=X
=%



o

jant
pid

1.97 x (-17) + 1.03 x (-17)

@ -34 ® -17 @ -14 ® -3

® -51



11.

(_1)2011 X (_1)2012 X 12011 _% 7:”/1\—]-6"_%‘7

O 2012
@ -1

@ -2012
® 2



D) 4b=02 W, axbo] A4E Fotolet
12. (-16)xa=1, (—5) +b

D R
=%



13. o= Al 25 AR 220

@ (+12) + (-3) = 4 @ (-12) + (+3) =4
®0+(-7)=0 @ (-16) = (-8) = -2
® (-4)+(+1)=-4



14. b= F A A3 g A2?



15.

a 784

o]
=

o, ohg 3 257k o Shbs?

@ -a?
G 100



16.

= A
T
A

_EL—_’_

D a

a

, bol st jal > bl ,axb>0,a<0 Do, o= 5 7H

L9

@ b ®a-b @b-a Ga+b



17. ohe 524 9ol AR AB S 3 ¢ 1 02 Uk C o) B
Fateler.

il

A

Y X
| @)



~
oR

ojn

]_
o] & 471 At

@ Aol A



3 7foltt.

510
I

Q

o xpAje]et.
o 4

5

© xo df
@ x*2 9 A

o] F-& 18 oJt},

s
__00

<

<




D (x+1)-(2+x) @ 0xx+5
® 3x—x+7-2x @l_1
x oy

® x% - (¥ +0.1x)



21.

che ol A ARG HEY AL 7

OHE St A - B @

o
=

Taholat,

OS2 A BE



22. x=2,y=-3 <] 2(3x-2y) — 3(3x + 4y) 9] & F3lojzt.

D L
=%



o, x o Al 4

SH
=

]

S

(6x—4) —2(4x + 3) = et

23.

@ -12 ® -13 @ -14 ® -15

O -11



24. ol" Aof 2x -8y & tIsfiof k=t ZRsHA MATIY ~5x + 3y 7}
S et of wf A Attt A& F-akeiet.

D R
=%



= 3} Qx}Alel A&
25. ohg 197 2 ARl tste] thg % x of g Akl A
T Zhotet,

& % © gme yel
© =AY Bole] §

&=
=F
&=

=%



